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Plejefamilier	
  Session	
  5	
  

Spørgsmål	
  til	
  selvevaluering	
  
	
  
1. Skabelsen	
  af	
  en	
  naturlig	
  rytme	
  af	
  daglige	
  aktiviteter	
  skabes	
  af:	
  

a. relationsarbejde	
  
b. praktiske	
  aktiviteter	
  og	
  pauser	
  i	
  en	
  fleksibel	
  struktur	
  
c. læringsaktiviteter,	
  rettet	
  mod	
  at	
  udvikle	
  psykiske	
  færdigheder	
  
d. fritidsaktiviteter	
  

	
  
2. At	
  vise	
  tydelig	
  ansigtsmimik	
  og	
  bruge	
  følelsesmæssige	
  udsving	
  i	
  stemmeføringen	
  er	
  typisk	
  for:	
  

a. omsorgspleje	
  til	
  børn	
  med	
  psykiske	
  problemer	
  
b. Tryg	
  omsorgspleje	
  
c. omsorgspleje	
  til	
  udenlandske	
  børn	
  
d. alle	
  de	
  ovenstående	
  muligheder	
  

	
  
3. Hvorfor	
  er	
  plejeforældrene	
  de	
  vigtigste	
  personer	
  i	
  et	
  anbragt	
  barns	
  liv?	
  

a. Uden	
  dem,	
  ville	
  barnet	
  ikke	
  kunne	
  spise,	
  drikke,	
  være	
  rent	
  og	
  påklædt	
  
b. Uden	
  dem,	
  ville	
  barnet	
  ikke	
  kunne	
  få	
  en	
  uddannelse	
  
c. Barnet	
  lærer,	
  hvordan	
  det	
  bliver	
  en	
  social	
  person	
  af	
  dem	
  
d. Barnet	
  lærer,	
  hvordan	
  det	
  skal	
  kommunikere	
  og	
  udtrykke	
  sig,	
  af	
  dem	
  

	
  
4. At	
  være	
  tilgængelig	
  for	
  barnet,	
  når	
  barnet	
  har	
  behov	
  for	
  omsorg	
  er	
  et	
  træk	
  ved:	
  

a. praktiske	
  aktiviteter	
  i	
  omsorgsplejen	
  
b. Tryg	
  omsorgspleje	
  
c. personer,	
  der	
  tager	
  sig	
  af	
  forældreløse	
  børn	
  
d. ingen	
  af	
  de	
  ovenstående	
  muligheder	
  

	
  
5. Hvad	
  er	
  Tilknytningsmønstre?	
  

a. Måder,	
  hvorpå	
  barnet	
  håndterer	
  adskillelse	
  og	
  stress	
  fra	
  omsorgsgiveren	
  
b. Måder,	
  hvorpå	
  barnet	
  bygger	
  relationer	
  med	
  andre	
  børn	
  
c. Måder,	
  hvorpå	
  barnet	
  manifesterer	
  sine	
  følelser	
  	
  
d. Måder,	
  hvorpå	
  barnet	
  bygger	
  relationer	
  med	
  voksne	
  
	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

LØSNINGER:	
  1b;	
  2b;	
  3c;	
  4b;	
  5a	
  


